

# Department of Engineering and Public Works

P.O. Box 21229 West Palm Beach, FL 33416-1229 (561) 684-4000 FAX: (561) 684-4050

www.pbcgov.com

#### Palm Beach County Board of County Commissioners

Maria Sachs, Mayor

Maria G. Marino, Vice Mayor

Gregg K. Weiss

Michael A. Barnett

Marci Woodward

Sara Baxter

Mack Bernard

#### **County Administrator**

Verdenia C. Baker

"An Equal Opportunity Affirmative Action Employer"

Official Electronic Letterhead

**DATE**: March 22, 2024

TO: M&M Asphalt Maintenance, Inc. d/b/a All County Paving

Halley Engineering Contractors, Inc. Ranger Construction Industries, Inc.

**FROM:** Morton L. Rose, P.E., Director, Roadway Production Div.

RE: AWARD RECOMMENDATION

MILLING & RESURFACING CONTINUING SERVICES CONSTRUCTION CONTRACT

PALM BEACH COUNTY PROJECT NO.: 2024050

Based on bid results and EBO compliance review, Engineering & Public Works recommends award of the above referenced contract to M&M Asphalt Maintenance, Inc. d/b/a All County Paving, Halley Engineering Contractors, Inc., and Ranger Construction Industries, Inc.

The enclosed Award Recommendation will be posted at the Engineering & Public Works Department / Roadway Production Division reception area on the 3rd Floor at 2300 North Jog Road, West Palm Beach, Florida on March 25, 2024 and to

http://discover.pbcgov.org/engineering/roadwayproduction/Pages/Bid-Documents.aspx

If your office wishes to protest the award recommendation, you may do so by addressing your protest to Ms. Melody Thelwell, Director, Palm Beach County Purchasing Department, 50 South Military Trail, West Palm Beach, Florida 33415. Failure to submit a protest to the Director of Purchasing within five (5) business days after posting of the Award Recommendation, as prescribed in Section 2-55(b) of the Palm Beach County Code, shall constitute a waiver of proceedings under the referenced County Code.

We thank you for your continued interest in bidding Palm Beach County projects.

enc: Bid Tabulations

EBO Compliance Review

ec: David L. Ricks, P.E., County Engineer

Joanne M. Keller, P.E., Deputy County Engineer Steven B. Carrier, P.E., Assistant County Engineer



Kathleen O. Farrell, P.E., Assistant Director, Roadway Production Division Maroun Azzi, P.E., Thoroughfare Roads Manager, Roadway Production Division Carlos Bojorge, P.E., Special Projects Manager, Roadway Production Division Kristine Frazell-Smith, P.E., Local Roads Manager, Roadway Production Division Holly B. Knight, P.E., Contracts Section Manager, Roadway Production Division Harvey Phillips III, Project Coordinator I, Roadway Production Division Kenny Rampersad, Director, Administrative Services Division Danny Ramlalsingh, Fiscal Manager, Administrative Services Division Yicel Corcino, Financial Analyst II, Administrative Services Division Susan Hudson, Financial Analyst, Administrative Services Division Albert Hoffman, Director, Construction Coordination Division Motasem Al-Turk, P.E., Director, Traffic Engineering Division Fattoush Jafar, Sr. P.E., Traffic Engineering Division Adam Faustini, Director, Road & Bridge Division Ali Bayat, Director, Water Utilities Department Fernando DelDago, CID Director, Facilities Development and Operations Jennifer Cirillo, Director, Parks & Recreation Department Deborah Drum, Director, PBC ERM Brenda Znachko, Director, Contract Development and Control Division, OFMB Tonya Johnson, Director, Office of Equal Business Opportunity Allen Gray, Manager, SBE Division, Office of Equal Business Opportunity Angela Smith, Small Business Development Specialist III, SBE Division, OEBO Melody Thelwell, Director, Purchasing Department Tiffany Thomas, Contract Oversight Specialist, Office of the Inspector General Yelizaveta B. Herman, Assistant County Attorney Fay Reynolds, Legal Secretary, County Attorney's Office Sean Reilly, Construction Coordinator, Traffic Division Graciela MCausland, Construction Coordinator, Traffic Division Carl Bengtson, Manager, Streetscape Section



## AWARD RECOMMENDATION

# MILLING & RESURFACING CONTINUING SERVICES **CONSTRUCTION CONTRACT** PALM BEACH COUNTY PROJECT NO.: 2024050

Palm Beach County Engineering & Public Works recommends award to M&M Asphalt Maintenance, Inc. d/b/a All County Paving, Halley Engineering Contractors, Inc., and Ranger Construction Industries, Inc., the lowest responsive, responsible bidders meeting all of the Equal Business Opportunity (EBO) ordinance requirements.

Rank	Bidder	Bid Amount	Footnotes
1	M&M Asphalt Maintenance, Inc. d/b/a All County Paving	\$67,593,026.50	1, 2
2	Halley Engineering Contractors, Inc.	\$75,943,600.00	1, 2
3	Ranger Construction Industries, Inc.	\$77,071,449.00	1, 2

**Footnotes:** 

- 1. Recommended Awardee
- 2. Responsive to the Entire Solicitation
- 3. Non-responsive to the EBO Ordinance Mandatory API
- 4. Non-responsive to other EBO Ordinance Requirements
- 5. Bid order of ranking was affected by the Local Preference Ordinance

**Enclosures:** Office of Equal Business Opportunity Compliance Review

**Bid Tabulations** 

N	AILLING &	BID TABULATIONS RESURFACING CONTINUING SERVICES CONSTRUCTION PBC PROJECT #2024050	CONTRA	СТ	Average of Bid Items for All Bidders	Engineer's Estimate	-	it Maintenance, Inc. County Paving	Halley Enginee	ring contractors, Inc.
#	FDOT Item #	Item Descrption	Qty.	Units	Unit Price	Unit Price	Unit Price	Amount	Unit Price	Amount
EAST	DISTRICT		T							
1	327-70	Mill Existing Asphalt Pavement (1")	2,220,000	SY	\$ 2.17	\$ 2.83	\$ 2.15	\$ 4,773,000.00	\$ 2.05	\$ 4,551,000.00
2	327-70	Mill Existing Asphalt Pavement (1.25")	2,220,000	SY	\$ 2.45	\$ 2.96	\$ 2.40	\$ 5,328,000.00	\$ 2.45	\$ 5,439,000.00
3	327-70	Mill Existing Asphalt Pavement (1.5")	111,000	SY	\$ 2.57	\$ 3.09	\$ 2.45	\$ 271,950.00	\$ 2.75	\$ 305,250.00
4	N/A	ACSC Type S-I (0-200 Ton Orders)	1,400	TN	\$ 154.67	\$ 148.60	\$ 144.00	\$ 201,600.00	\$ 167.00	\$ 233,800.00
5	N/A	ACSC Type S-I (>200 Ton Orders)	17,500	TN	\$ 135.00	\$ 126.88	\$ 125.00	\$ 2,187,500.00	\$ 153.00	\$ 2,677,500.00
6	N/A	ACSC Type S-III (0-200 Ton Orders)	3,500	TN	\$ 155.33	\$ 148.60	\$ 144.00	\$ 504,000.00	\$ 167.00	\$ 584,500.00
7	N/A	ACSC Type S-III (> 200 Ton Orders)	17,500	TN	\$ 138.67	\$ 125.48	\$ 129.00	\$ 2,257,500.00	\$ 153.00	\$ 2,677,500.00
8	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (0-200 Ton Orders)	3,500	TN	\$ 173.33	\$ 148.60	\$ 155.00	\$ 542,500.00	\$ 175.00	\$ 612,500.00
9	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (200-800 Ton Orders)	10,500	TN	\$ 156.33	\$ 129.28	\$ 134.00	\$ 1,407,000.00	\$ 165.00	\$ 1,732,500.00
10	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (> 800 Ton Orders)	175,000	TN	\$ 152.83	\$ 122.60	\$ 134.00	\$ 23,450,000.00	\$ 158.00	\$ 27,650,000.00
11	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (0-200 Ton Orders)	1,400	TN	\$ 162.67	\$ 149.00	\$ 155.00	\$ 217,000.00	\$ 175.00	\$ 245,000.00
12	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (> 200 Ton Orders)	2,800	TN	\$ 151.00	\$ 129.04	\$ 138.00	\$ 386,400.00	\$ 165.00	\$ 462,000.00
13	N/A	High Friction Surface Treatment	17,500	SY	\$ 46.00	\$ 45.00	\$ 60.00	\$ 1,050,000.00	\$ 34.00	\$ 595,000.00
SUBTO	OTAL (EAST D	ISTRICT)						\$ 42,576,450.00		\$ 47,765,550.00
WEST	DISTRICT									
14	327-70	Mill Existing Asphalt Pavement (1")	370,000	SY	\$ 2.07	\$ 2.85	\$ 2.15	\$ 795,500.00	\$ 1.85	\$ 684,500.00
15	327-70	Mill Existing Asphalt Pavement (1.25")	370,000	SY	\$ 2.38	\$ 3.72	\$ 2.40	\$ 888,000.00	\$ 2.15	\$ 795,500.00
16	327-70	Mill Existing Asphalt Pavement (1.5")	3,700	SY	\$ 2.82	\$ 4.59	\$ 2.45	\$ 9,065.00	\$ 2.50	\$ 9,250.00
17	N/A	ACSC Type S-I (0-200 Ton Orders)	1,750	TN	\$ 152.33	\$ 150.00	\$ 144.00	\$ 252,000.00	\$ 160.00	\$ 280,000.00
18	N/A	ACSC Type S-I (>200 Ton Orders)	70,000	TN	\$ 132.00	\$ 124.08	\$ 125.00	\$ 8,750,000.00	\$ 140.00	\$ 9,800,000.00
19	N/A	ACSC Type S-III (0-200 Ton Orders)	1,750	TN	\$ 157.00	\$ 150.00	\$ 151.00	\$ 264,250.00	\$ 160.00	\$ 280,000.00
20	N/A	ACSC Type S-III (> 200 Ton Orders)	1,750	TN	\$ 142.33	\$ 128.68	\$ 135.00	\$ 236,250.00	\$ 156.00	\$ 273,000.00
21	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (0-200 Ton Orders)	1,750	TN	\$ 158.33	\$ 150.00	\$ 155.00	\$ 271,250.00	\$ 168.00	\$ 294,000.00
22	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (200-800 Ton Orders)	1,750	TN	\$ 145.00	\$ 131.68	\$ 134.00	\$ 234,500.00	\$ 165.00	\$ 288,750.00
23	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (> 800 Ton Orders)	1,750	TN	\$ 145.33	\$ 124.10	\$ 134.00	\$ 234,500.00	\$ 165.00	\$ 288,750.00

N	AILLING &	BID TABULATIONS RESURFACING CONTINUING SERVICES CONSTRUCTION PBC PROJECT #2024050	CONTRA	AC	Average of Bid Items for All Bidders	Engineer's Estimate		t Maintenance, Inc. County Paving	Halley Engine	ering contractors, Inc.
#	FDOT Item #	Item Descrption	Qty.	Units	Unit Price	Unit Price	<b>Unit Price</b>	Amount	Unit Price	Amount
24	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (0-200 Ton Orders)	1,750	TN	\$ 160.33	\$ 150.00	\$ 156.00	\$ 273,000.00	\$ 169.00	\$ 295,750.00
25	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (> 200 Ton Orders)	3,500	TN	\$ 159.67	\$ 129.24	\$ 138.00	\$ 483,000.00	\$ 173.00	\$ 605,500.00
26	N/A	High Friction Surface Treatment	7,000	SY	\$ 46.00	\$ 45.00	\$ 60.00	\$ 420,000.00	\$ 34.00	\$ 238,000.00
SUBTO	OTAL (WEST D	ISTRICT)						\$ 13,111,315.00		\$ 14,133,000.00
EAST	AND WEST DIS	STRICTS								
27	102-10	Off Duty Police Officer	700	HR	\$ 85.00	\$ 67.90	\$ 100.00	\$ 70,000.00	\$ 80.00	\$ 56,000.00
28	N/A	Portable Milling Machine	875	HR	\$ 375.00	\$ 260.00	\$ 225.00	\$ 196,875.00	\$ 500.00	\$ 437,500.00
29	327-70	Mill Existing Asphalt Pavement (<5,000 SY)	185	1/2 Day	\$ 6,616.67	\$ 5,285.00	\$ 7,950.00	\$ 1,470,750.00	\$ 3,000.00	\$ 555,000.00
30	327-70	Mill Existing Asphalt Pavement (1") - Residential Roadways	740,000	SY	\$ 2.48	\$ 2.97	\$ 2.45	\$ 1,813,000.00	\$ 2.50	\$ 1,850,000.00
31	327-70	Mill Existing Asphalt Pavement (1.5") - Residential Roadways	92,500	SY	\$ 2.78	\$ 3.14	\$ 2.65	\$ 245,125.00	\$ 3.20	\$ 296,000.00
32	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (0-500 Ton Orders) - Residential Roadways	17,500	TN	\$ 163.00	\$ 137.20	\$ 135.00	\$ 2,362,500.00	\$ 184.00	\$ 3,220,000.00
33	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (> 500 Ton Orders) - Residential Roadways	35,000	TN	\$ 161.67	\$ 127.68	\$ 133.00	\$ 4,655,000.00	\$ 173.00	\$ 6,055,000.00
34	N/A	Surcharge to deliver millings to Palm Beach County stockpile site using contractor vehicle	35,000	CY	\$ 8.43	\$ 5.00	\$ 3.00	\$ 105,000.00	\$ 20.00	\$ 700,000.00
35	N/A	Surcharge for Palm Beach County to pick up millings in County vehicles	35,000	CY	\$ (0.70)	\$ 3.38	\$ 0.01	\$ 350.00	\$ 1.00	\$ 35,000.00
36	425-5-A	Manhole Adjustment	1,750	EA	\$ 196.67	\$ 633.00	\$ 225.00	\$ 393,750.00	\$ 150.00	\$ 262,500.00
37	425-6	Adjust Valve Boxes & Misc. Structures	1,750	EA	\$ 133.00	\$ 239.00	\$ 175.00	\$ 306,250.00	\$ 100.00	\$ 175,000.00
38	N/A	Box Out Shoulder (as per detail)	350	HR	\$ 230.00	\$ 172.00	\$ 150.00	\$ 52,500.00	\$ 300.00	\$ 105,000.00
39	N/A	Remove and Re-install Wheel Stops	963	EA	\$ 40.33	\$ 54.45	\$ 23.00	\$ 22,149.00	\$ 50.00	\$ 48,150.00
40	N/A	Bituminous Material (Prime Coat)	350	Gal	\$ 8.75	\$ 5.40	\$ 5.75	\$ 2,012.50	\$ 14.00	\$ 4,900.00
41	N/A	Premium for work within Railroad rights-of-way (see footnote)	70	EA	\$ 2,593.33	\$ 2,700.00	\$ 3,000.00	\$ 210,000.00	\$ 3,500.00	\$ 245,000.00
SUBTO	OTAL (EAST &	WEST DISTRICTS)						\$ 11,905,261.50		\$ 14,045,050.00
			TOTA	AL BID				\$ 67,593,026.50		\$ 75,943,600.00

N	IILLING &	BID TABULATIONS RESURFACING CONTINUING SERVICES CONSTRUCTION  PDC PDC LECT #2024050	CONTRA	.CT	Ranger Constr	uctio	n Industries, Inc.
#	FDOT Item #	PBC PROJECT #2024050  Item Descrption	Qty.	Units	Unit Price		Amount
EAST	DISTRICT	•					
1	327-70	Mill Existing Asphalt Pavement (1")	2,220,000	SY	\$ 2.30	\$	5,106,000.00
2	327-70	Mill Existing Asphalt Pavement (1.25")	2,220,000	SY	\$ 2.50	\$	5,550,000.00
3	327-70	Mill Existing Asphalt Pavement (1.5")	111,000	SY	\$ 2.50	\$	277,500.00
4	N/A	ACSC Type S-I (0-200 Ton Orders)	1,400	TN	\$ 153.00	\$	214,200.00
5	N/A	ACSC Type S-I (>200 Ton Orders)	17,500	TN	\$ 127.00	\$	2,222,500.00
6	N/A	ACSC Type S-III (0-200 Ton Orders)	3,500	TN	\$ 155.00	\$	542,500.00
7	N/A	ACSC Type S-III (> 200 Ton Orders)	17,500	TN	\$ 134.00	\$	2,345,000.00
8	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (0-200 Ton Orders)	3,500	TN	\$ 190.00	\$	665,000.00
9	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (200-800 Ton Orders)	10,500	TN	\$ 170.00	\$	1,785,000.00
10	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (> 800 Ton Orders)	175,000	TN	\$ 166.50	\$	29,137,500.00
11	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (0-200 Ton Orders)	1,400	TN	\$ 158.00	\$	221,200.00
12	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (> 200 Ton Orders)	2,800	TN	\$ 150.00	\$	420,000.00
13	N/A	High Friction Surface Treatment	17,500	SY	\$ 44.00	\$	770,000.00
SUBTO	OTAL (EAST DI	STRICT)			'	\$	49,256,400.00
WEST	DISTRICT						
14	327-70	Mill Existing Asphalt Pavement (1")	370,000	SY	\$ 2.20	\$	814,000.00
15	327-70	Mill Existing Asphalt Pavement (1.25")	370,000	SY	\$ 2.60	\$	962,000.00
16	327-70	Mill Existing Asphalt Pavement (1.5")	3,700	SY	\$ 3.50	\$	12,950.00
17	N/A	ACSC Type S-I (0-200 Ton Orders)	1,750	TN	\$ 153.00	\$	267,750.00
18	N/A	ACSC Type S-I (>200 Ton Orders)	70,000	TN	\$ 131.00	\$	9,170,000.00
19	N/A	ACSC Type S-III (0-200 Ton Orders)	1,750	TN	\$ 160.00	\$	280,000.00
20	N/A	ACSC Type S-III (> 200 Ton Orders)	1,750	TN	\$ 136.00	\$	238,000.00
21	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (0-200 Ton Orders)	1,750	TN	\$ 152.00	\$	266,000.00
22	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (200-800 Ton Orders)	1,750	TN	\$ 136.00	\$	238,000.00
23	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (> 800 Ton Orders)	1,750	TN	\$ 137.00	\$	239,750.00

N	IILLING &	BID TABULATIONS RESURFACING CONTINUING SERVICES CONSTRUCTION PBC PROJECT #2024050	CONTRA	CT	Ranger Con	structio	on Industries, Inc
#	FDOT Item #	Item Descrption	Qty.	Units	Unit Price	Т	Amount
24	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (0-200 Ton Orders)	1,750	TN	\$ 156.0	00 \$	273,000.00
25	337-7-83	Superpave Asphaltic Concrete (SP-12.5 Traffic Level C) (> 200 Ton Orders)	3,500	TN	\$ 168.0	00 \$	588,000.00
26	N/A	High Friction Surface Treatment	7,000	SY	\$ 44.0	00 \$	308,000.00
SUBTOTAL (WEST DISTRICT)						\$	13,657,450.00
EAST	AND WEST DIS	STRICTS					
27	102-10	Off Duty Police Officer	700	HR	\$ 75.0	00 \$	52,500.00
28	N/A	Portable Milling Machine	875	HR	\$ 400.0	00 \$	350,000.00
29	327-70	Mill Existing Asphalt Pavement (<5,000 SY)	185	1/2 Day	\$ 8,900.0	00 \$	1,646,500.00
30	327-70	Mill Existing Asphalt Pavement (1") - Residential Roadways	740,000	SY	\$ 2.5	50 \$	1,850,000.00
31	327-70	Mill Existing Asphalt Pavement (1.5") - Residential Roadways	92,500	SY	\$ 2.5	50 \$	231,250.00
32	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (0-500 Ton Orders) - Residential Roadways	17,500	TN	\$ 170.0	00 \$	2,975,000.00
33	337-7-82	Superpave Asphaltic Concrete (SP-9.5 Traffic Level C) (> 500 Ton Orders) - Residential Roadways	35,000	TN	\$ 179.0	00 \$	6,265,000.00
34	N/A	Surcharge to deliver millings to Palm Beach County stockpile site using contractor vehicle	35,000	CY	\$ 2.3	80 \$	80,500.00
35	N/A	Surcharge for Palm Beach County to pick up millings in County vehicles	35,000	CY	\$ (3.3	(0)	(108,500.00
36	425-5-A	Manhole Adjustment	1,750	EA	\$ 215.0	00 \$	376,250.00
37	425-6	Adjust Valve Boxes & Misc. Structures	1,750	EA	\$ 124.0	00 \$	217,000.00
38	N/A	Box Out Shoulder (as per detail)	350	HR	\$ 240.0	00 \$	84,000.00
39	N/A	Remove and Re-install Wheel Stops	963	EA	\$ 48.0	00 \$	46,224.00
40	N/A	Bituminous Material (Prime Coat)	350	Gal	\$ 6.5	50 \$	2,275.00
41	N/A	Premium for work within Railroad rights-of-way (see footnote)	70	EA	\$ 1,280.0	00 \$	89,600.00
SUBT	OTAL (EAST &	WEST DISTRICTS)			,	\$	14,157,599.00
			TOTA	AL BID		\$	77,071,449.00

#### THE COUNTY DOES NOT GUARANTEE THE ACCURACY OF THE FORMULAS AND EXTENSIONS USED IN THIS SPREADSHEET.

## THE ITEMS AND QUANTITIES ABOVE, SHALL GOVERN OVER THE PLANS.

## PAY ITEM FOOTNOTES IN CONSTRUCTION PLANS SHALL ALSO BE INCLUDED IN ITEM UNIT PRICE.

Note #	FDOT Item #	PAY ITEM FOOTNOTES
1	All	All costs for <b>Maintenance of Traffic (MOT)</b> shall be considered incidental to, and shall be included in, unit prices for the pay items. The only exceptions to this shall be the Off Duty Police Officer required per specification and standards or as directed by Palm Beach County and the premium for MOT within a railroad right-of-way which shall be included in the "Premium for work within Railroad rights-of-way" item.
2	All	All items shall include cost to furnish and install unless otherwise noted.
3	All	FDOT Item numbers are for information only.
4	327-70	Milling Existing Asphalt Pavement Items per square yard are based on the indicated depth of milling. In the event that other milling depths are required, the contract price for Mill Existing Asphalt Pavement will be adjusted in (1/2") increments.
5	N/A	Portable Milling Machine, per hour, includes portable milling machine, all labor for actual milling and clean-up and satisfactory disposal of milled material. Payment shall be based upon actual hours for milling and clean-up. Disposal of milled material shall be considered incidental to per hour rate for Portable Milling Machine.
6	425-5-A	Manhole Adjustment, each, may be accomplished using precast rings or other methods acceptable to the County.
7	N/A	Remove and Re-install Wheel Stops, each, includes all labor, equipment and materials required for removal of wheel stops and re-bar or other methods of attachment, stockpiling and protecting wheel stops and accessories and re-installation of wheel stops by an acceptable attachment method. Furnishing and installing replacement wheel stops and/or attachment devices which have been damaged during removal or storage shall be incidental to the pay item.
8	All	Residential roadways will be identifed by Palm Beach County. The intent of Residential Roadway items is for those roadways within subdivisions with direct driveway connections. Note there are also local streets and collector roads with direct driveway connections that will not be considered as a Residential Roadway.
9	N/A	Palm Beach County reserves the right to acquire <b>millings</b> at their discretion. Delivery options include, transport of millings using Palm Beach County vehicles and/or Contractor supplied vehicles (surcharge to be applied).
10	N/A	Surcharge for delivery of millings will include all labor, equipment and materials required to deliver millings to the Palm Beach County stockpile site on Benoist Farms Road.
11	N/A	Premium for work within Railroad rights-of-way shall include all additional costs required to work within the railway right-of-way. This shall include, but not be limited to permitting, maintenance of traffic, railroad protective liability insurance policies, and other permit requirements.

Bids as read at opening on February 27, 2024, 2:00 PM

All bids subject to OEBO compliance and Board Approval.

Prepared by: Geraldine Lazzarino-Kelly, Technical Assistant 1

Checked by: Holly B. Knight, P.E., Contracts Section Manager

Contract Time is 18 Months

# **OEBO PARTICIPATION EVALUATION FORM**

DATE SENT: March 8, 2024	CONTRACTS MANAGER: Holly Knight, P.E.
PROJECT #: 2024050	PROJECT NAME: Milling & Resurfacing Continuing Services Construction Contract
USER DEPARTMENT: Engineering	SOLICITATION OPENING DATE:
OEBO ESTABLISHED API: The API set for this project	is 10% SBE min. mandatory

## **SOLICITATION EVALUATION INFORMATION**

RESPONDENT	PRIME IS A CERTIFIED S/M/WBE	IS PRIME BIDDER RESPONSIVE	PERCENTAGE OF S/M/WBE UTILIZATION
M&M Asphalt Maintenance, Inc. d/b/a All County Paving	2	1	11%
Halley Engineering Contractors, Inc.	2	1	10%
Ranger Construction Industries, Inc.	2	1	10%

KEYS FOR DETERMINATION (NOTED IN THE SOLICITATION EVALUATION INFORMATION TABLE)

- (1) YES (2) NO
- (3) N/A

## **EVALUATION NOTES:**

Evaluated by: Angela Smith, SBDS III

See the attached OEBO Compliance Form J v.5 for Evaluation comments.

Signature:	Date: 3/7/2024
Cargo C	
Reviewed by: Allen Gray	
Signature:	Date: 3.20.2024

Date	Bid Amount/Price/	Percent:	
N/A	\$67,593,026.50 Prime: 89%		
		Supplier	
9/6/2025	11%		
CIPATION			
_		==,-	

Evaluation Comments: M&M Asphalt Maintenance, Inc. d/b/a All County Paving is responsive to the API and the EBO requirements.

	Certification Status	Expiration Date	Bid Amount/Price/	Percent:
ne Respondent: ey Engineering Contractors, Inc.  Non-SBE N/A		N/A \$75,943,600		.00
, , ,		,	Prime: 90%	
Subcontractor/Sub consultant Name				Supplier
Equipo Equipment, LLC	MBE - HI	2/6/2027	7%	
R & D Paving, LLC	WBE	4/9/2025	3%	
	TOTAL SBE PAR	RTICIPATION	10%	
<b>Evaluation Comments: Halley Engineering Contractors,</b>	Inc. is responsive to	the API and tl	he EBO requirements.	

	Certification Status	Expiration Date	Bid Amount/Price	/Percent:
Prime Respondent:	Non-SBF	Non-SBE N/A	\$77,071,499	.00
Ranger Construction Industries, Inc.	14011 352	14/7	Prime: 90%	
Subcontractor/Sub consultant Name				Supplie
Equipo Equipment, LLC	MBE - HI	2/6/2027	7%	
Almazan Construction	MBE - HI	9/6/2025	3%	
	TOTAL SBE PAR	TICIPATION	10%	